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       Collaboration is allowed


1. Stable matching cycling: Consider the stable matching problem for 
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 men and 
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 women with complete preference lists and no ties. Consider the following process for matching, which we might call the "real world" process.  Begin with no matches. Choose a man and a woman who would rather be together than with their respective matches. (Note: each person would rather be matched with someone than alone.) Match these two people; their previous partners, if they exist, are now unmatched. Continue until there is no unstable pair.

Is it true that this process must always terminate? If so, prove it.  If not, construct a counterexample. Note: people are allowed to be unmatched in the middle of the process, but the process cannot stop with anyone unmatched, since an unmatched man and an unmatched woman, no matter who they are, would rather be with each other than alone, so a partial matching is not stable.
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